
  
 
 

Be sure to shop our online store for the best deals: www.uprproducts.com 

750 Eastcoast St South  Lake Worth, FL 33460 
561-588-6630   Fax: 561-585-4141 

www.uprproducts.com  

UPR Extreme Adjustable Shift Handle Installation 
 

Parts: 

(1) Shift handle base.  

(1) Shift handle stick. 

(2) M8x30 bolts 

(2) 5/16” lock washers 

(2) 5/16” flat washers 

(4) 5/16” neoprene washers 

(2) Custom thick washers 

(1) 5/32” allen key 

(2) 5/16”-24 X ¼ set screws 

 
Directions: 

1. Install washers on bolts in sequence shown in Picture 2 below. Thick washer must be last one installed (furthest 
from head of bolt).  

2. Install socket screws on each side of handle (see Picture 1). Turn in two turns.  
3. Slide non-threaded end of shift handle stick into handle base.  
4. Bolt handle to shifter. Handle should be facing rear of car with bolt recesses towards driver side. Bolts are 

threaded in from driver side and tightened. 
5. With driver sitting in car adjust shift shaft both upwards/downwards and sideways to suit driver preference.  
6. Tighten set screws firmly with allen key provided to secure shifter shaft.   

 

 

  

 

http://www.uprproducts.com/

